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Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10.

0T3013 0T3013

OR (312141) (ii)
What is the basic difference between natural and

synthetic rubber ? Mention the different commercial

rubber and explain it.

YT fae Yax vd S a) ¥ g =R @
2 ? faf=1 =amuRe JaR &1 ool Hd gY (iii)
SD! AT BN |

Describe the construction and working principle

of P-N Junction diode with its V-I characters.

(iii)
U®H P-N Siqe[ SIS ®1 941d¢ Ud 1

g &1 avi9 39 diec—ImdRR Iifiaeor

@ rI oW |

OR (37erdr) (iv)

State and explain the working principle of transistor.
With neat and clean diagram explain biasing

technique of PNP transistor.

3 20304

SR § 9T g9 ard gifcas
qTeld o

(a1) =t

(@) qarar

GIRNS GIREE

(%) Swiaa g+

Resistivity of aluminium with respect to
copper is

(a) 1.53 times more

(b) 1.63 times more

(c) 1.73 times more

(d) 1.83 times more

v @1 gfaRiasar did &1 sraer
(31) 1.53 (oM Ife® AT 2 |
(@) 1.63 oI Afrw ghar 2 |
(@) 1.73 om Ifera ghar B |
(]) 1.83 oM 3fera grar 2

Temperature coefficient of resistance for
pure metals are.

(a) Positive

(b) Negative

(c) Both (a) and (b)

(d) None of the above

P.T.O
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GROUP -C (vi)

Answer all Five Questions.

il uia yI & S<x < |

7.

8x5=40

What do you mean by dielectric materials ? Write
the name of ten important dielectric materials with

their dielectric constant and uses.
8

uRTded yaref ¥ 3MTY T WK B2 <9
9@ wRided usrdl & 9™ wRidgd Fradaie
Ud SUANT & W fad | (vii)
OR (3121a1)

What are high resistivity materials ? Discuss its
properties and applications.
(vii)
Sod gfaRigadr ucrel @ 8?7 s9a [un
LEESEDIRIECIRECERIICAd

What is meant by magnetic susceptibility ? State
and explain the effect of temperature moisture and

electric current on conductors and insulators. 8

5 20304

€T @1 YfaRIE&Hdar dushd &1 [0Tdh

(waerH) & P |

(31) AUsHH A 9T D AT JHEDI
T 95ald B

(d) duHH H 95cld & AIA URATILS]
@ I A yRa<d= gar 2 |

(¥) arused gRa<dsT & T sddgi+
a7 A yRa<+ ghar 2 |

(?) 379 & BIs AL |

The conductivity of metal is determined by:

(a) The electron concentration and the
mobility of the free electrons.

(b) The number of valance electrons for atom

(c) Both (a) and (b)

(d) None of these

gTg ® Arddar AT ot 2 |

(31) SATET HIATG I qAT WA A
sAdeTd @ dod e & «rer

(@) 9&AS WRAY] S Ad~q FoagiAl
DY HEIT D gRT

(&) (1) dor (@) <r=r

(?) 379 4 BIg T8
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OR (31214r) x)

What is the importance of Insulating materials in
day to day life as well as in transmission of
electrical power ? Explain.

afew Sfieq & wra—ar faga wfea @
GaxoT A faggaieh el &1 #eca @ar @ ?
TqHSSY |

x)

4. Write the important points which will be considered
for the selection of insulations and explain it.

4
fagaxie gl &1 @99 &% 8g 4=
fagan &1 ford dem SHa) T & | (xi)

OR (3121a1)

How the test of insulation oil is performed ?
Explain.

fagraiel dd &1 udieer o4 fHar sar 27 (xi)
quis 3 |

5. State insulating liquid material. Write the different
names of insulating liquid materials and their
properties. 4

7 20304

Among following which conductor has
highest conductivity ?

(a) Cu

(b) Ag

(c) Mg

(d) Al

g R 0 2 A A I 1 s S O  E o
ATcidl Gad Aferd Bt 2 |

(31) Cu

(9) Ag

(|) Mg

(?) Al

Materials whose specific resistance abruptly
falls at very low temperature are cathed:

(a) Conductors

(b) Insulators

(c¢) Super conductors

(d) Semi conductors

geref ot faldre ufemie sifere fve
qIUhd WR UHIUH IR ST 2 |

(31) aTeI® HEATET B

(@) HaTdas HEAET 2

(|) guR Al HEardl @

(?) IIgaTcI®d HEdr 2 |
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xix) feifea 49 § 9 o9 a1 9 gE=da:

(xx)

(xx)

12 0T3013

faga Vew @ ford SuAr foar wmar 2
(31) TSI

(3) AeB THAT TAIRISS

(4) ®Ed9 S ATHITSS

(%) @) @ (|) <A

Junction transistors are mainly
(a) One type

(b) Two type

(c) Three type

(d) Four type

SIRA gIf-ereer gEad:
(31) TH YHR &1 BT 2
(d) T YbKR &1 BlaT 2
(@) N ydR &1 BlaT 2
(2) 9R YbKR &I 8idl 2

0T3013
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(xii) P cile g gared faf=1 sifreeor

(xiv)

(xiv)

(xv)

geriar 2—

(31) HITS AMUHT & SUX dAT
(@) S@ & dmUshdI > SUR qAT A
(&) frer amuspd & Sux qAgT

(]) g3 AUy & SUR qdAgT

Soft magnetic material is:
(a) Tungsten steel

(b) Bismuth

(c) Iron

(d) Alcomax

AT gD ggref 2—
(31) e e

(@) faaser

(\) <ir=r

(]) sra®IAad

Hystersis loss is proportional to:
(a) f

(b) 13

(c) £?

(d £
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